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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) Question paper comprises four Sections — A, B, C and D. There are
35 questions in the question paper. All questions are compulsory.

(it)  Section A — Question no. 1 to 20 are very short answer type questions, carrying
1 mark each.

(iti) Section B — Question no. 21 to 28 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 80 words.

(iv) Section C - Question no. 29 to 34 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

(v)  Section D - Question no. 35 is map based, carrying 6 marks with two parts,
35(a) from History (2 marks) and 35(b) from Geography (4 marks).

(vi) Answers should be brief and to the point; also the above word limit be adhered
to as far as possible.

(vii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
have to be attempted.

(viii) Attach map along with your answer-book.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

1. Who among the following was proclaimed as the first German Emperor in
18717 1

(A)  William I

(B) William II

(C)  Friedrich Wilhelm I
(D)  Friedrich Wilhelm IV

2. Why did Gandhiji organize Satyagraha in Ahmedabad in 1918 ? Give the
main reason. 1

321412 htos i o | P.T..
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3.  TIfcihl sl A=A hifTe qen = feu T weq 1 S G
BT, e 3R f98R & $© qoTcds 3Aiehe

fraa sufeufa srum@
_— Rggg R ufa | seRar @ % | (I 100 Afh) IAR
1,000 =If<H (2016) (2011) TR (AT 14 9T 15
a¥) 2013 — 14
g 33 82 61
HA 10 94 83
EHK 38 62 43
94
fore 759 1 SR TR W Fraa ufedfa 1 o1 a8 %A g ? 1
4. Tmafafea & @ aft gufera fased w1 =@ Hif . 1
eyl (e # 991) Ty 11 (fara & &67)
A)  TorEm o wdt & fog — %M H % A g7 qA1 dFR ASGH
had a9t W [ 8
(B) (W& TTHIT HigL —  TorEm 1 IRt IuS & foru STer wuele
HeE
(C) U % g fha™ — Fafa I
(D) HET |1 1 Th Afgamet —  Sfifeeh Ui 1 gfd
5. Tk Tam 1 gid HINT 1
1834 T I3M 1 Ugd W TH Jooh 9o Torrfua femam mam |
6. fTr=fafga § 9 forg vared) O wra § ffén 39 o18 2 1
(A)  wgdl wrdredt

(B) HEI Hlddgdl wdred!
(C) H% Y=ggdl vrdrsel

(D) ASNEd IdTsql
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3. Study the table and answer the question given below :
Some Comparative Data on Haryana, Kerala and Bihar
Infant Mortality . Net Attendance Ratio
Literacy Rate % (per 100 persons)
State Rate per 1,000
live births (2016) (2011) Secondary stage (age 14
and 15 years) 2013 — 14
Haryana 33 82 61
Kerala 10 94 83
Bihar 38 62 43
Question :
Which State has the lowest net attendance ratio at Secondary stage ? 1
4. Choose the correctly matched option from the following : 1
Column I (Category of Person,) Column II (Development Goal)
(A) Farmers who depend only ¥ —  More days of work and better
on rain for growing crops wages
(B) Landless rural labourers —  Higher support prices for their
crops
(C)  Prosperous farmers from —  Regular wages
Punjab
(D) An Adivasi from Narmada —  To fulfil livelihood
Valley
5. Fill in the blank : 1
In 1834, a customs union was formed at the initiative of
Prussia.
6. In which of the following centuries did the printing press come to India ? 1

(A) Seventeenth century
(B)  Mid-Sixteenth century
(C) Mid-Fifteenth century
(D) Eighteenth century

| hupsifoyjus.com | e
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7. Trafafea & @ form T SRE A ST ATTeed fewehl T gehat TR 2 1
(A) S and gfee™
(B) die gfem
(C) TS SRS
(D) Wi dvrett

8.  dfeerm i ‘“rgerfes T’ # ffaRaa & @ foroes new o= | Argierd 7 2 1
(A) Tafim amfaes aqgEt & a9
(B) & o fafe 31 o 7ed
(C) g 3R TST HR & ALA
(D) TSI TR 3R AHEIIH TLhR o Te

9. o1 hl GEIEH] S AR & ? Toh HINUT T hHITT | 1
STraT

U dAhaieh oW % A H fafoy omifve wgl o fRwed @
JATITTHAT FT & ? HIg Teh ST fARY | 1
10. ekt § FHfARad § 9 $H-91 Sgeeas a1 § ? 1
(A) dvE
(B) 3918
C) Taseh
(D) Hew
11.  “9rda g § i vor et off yafa 17 38 gutd e o foT @E u

3 T | 1
St

“ara 4 Hft-wdt AT Sfaat W g R e B 17 38 foufa | gesm
T ST Hehell B 2

12. T Tom i gfd A

FM-Mgred 78 ofem | % fourer Wer W MU § |
13. 3UFH g1 & FefaRaa arferest o i Tt & @ HiT é+é=
HATAT o STUR W 918
A ISTET / TR
(A e I q9T Yo Hall
(B) ceeeeeeeeeeeeee e Qs 3 Sfamed guH
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7. Who among the following Governor Generals had persecuted James
Augustus Hickey ? 1
(A) Lord Warren Hestings
(B) Lord Irwin
(C)  Lord Dalhousie
(D)  Lord Wellesley
8. Under which of the following is power shared in the ‘Community
Government’ of Belgium ? 1
(A) Different social groups
(B)  Different organs of government
(C) Central and State government
(D)  State government and Community government
9. Why is power sharing desirable ? Explain one reason. 1
OR
Why is there a need to give space to diverse social groups in the
administration of a democratic country ? Give any one reason. 1
10. Which of the following is the majority group in Sri Lanka ?
(A) Tamils
(B) Christians
(C) Sinhalese
(D) Muslims
11. “Caste system is still prevalant in the Indian society.” Suggest any one
measure to abolish it. 1
OR
“Sometimes elections are all about caste in India.” How can this situation
be avoided ?
12. Fill in the blank :
Large reserves of have been discovered in the
Krishna-Godavari river basin.
13. Fill in the blanks of the following table with suitable information : é+ é =1
Resource on the basis of exhaustibility
Resource Examples/Type
(A) e Solar and Wind energy
(B) oo, Mineral and Fossil fuels
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14. 39 9YG-97H 1 99 Tl fSeen faem gras 7o & sed IR 8 b U
o foru fepam T | 1
AT
39 AYE-uwE 1 AW fRaw foeert foehm Sieedn 9 % Sed YR 8 G
9 o foTu fomam T | 1
15. T 3Afvgeh FHoft G FfaRga 4 @ form s o @ 2 2 1
(A) AleH
(B)
(C) dftd TTg
(D) W I
16. T=faRea ¥ & @& gafaa g 1 =79 HIfe . 1
(A) el dA-8F — T
(B) «iadrse 6l @H — RNy
(C) TgqX AT ol TIA — 3nfesm
(D) VS Ag 3k hl @H  — TGS
17. 95U T § Y9 WRA § ITUGATIl Smaeh 39T | i g off ? 1
18. ‘fore @ & oE@h T o ? 1
AT
‘S77H3” ITH o AGh Hid I ? 1
19. WA =X HHATET i 3™ §¢H o T HIg Teh aeht FIST | 1
20. WA H qfieh &eh a1 HEwIqUl i Bl @1 2 ? IgE Ul T HINY | 1
S DC]
TSR o Ted T Gifed &5 shi Tg@ e sl s T | 1
LCLCRE]
21. “ETisd & W ATl o TV R TR i ATETTHAT 2 |7 39 HAT
TR ST | 3
Jrqa
“Trsht gmrep <t Tifafafemt o1 Tg@ Iew a9 ATa ST 3aT 8 17 36 S R
TR ST | 3
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14. Name the sea-port that was developed to relieve growing pressure on the
Mumbai port. 1
OR
Name the sea-port that was developed to relieve growing pressure on the
Kolkata port. 1
15. In which of the following States is Narora Nuclear Power Plant located ? 1
(A) Karnataka
(B) Kerala
(C) Tamil Nadu
(D) Uttar Pradesh
16. Choose the correctly matched pair from the following : 1
(A) Kalol Oil-fields — Gujarat
(B) Bauxite Mines — Maharashtra
(C)  Chandrapur Thermal — Odisha
Power Plant
(D) Mayurbhanj Iron Ore Mines — Jharkhand
17. Why were manuscripts not widely used in India before the age of print ? 1
18. Who was the author of ‘Hind Swaraj’ ? 1
OR
Who was the author of the novel ‘Anandmath’? 1
19. Suggest any one way to increase the income of the Indian household
worker. I
20. Why is the tertiary sector becoming so important in India ? Explain the
main reason. 1
OR
Explain the main advantage of organised sector in respect of
employment. 1
SECTION B
21. “There is need for protection and support for the workers in the
unorganised sector.” Evaluate this statement. 3
OR
“Activities in the private sector are guided by the main motive to earn
profit.” Evaluate this statement. 3
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22. URd H HiEeAl o Uid WeWTd o dqiieh] sl FUF shifvq | 3
ST

g YR § Sifd I HEAT IR TG SJaEAT W AW Seedl Sl guid
HIT | 3

23. WA H g 3 TSAT & o= AT o sear hl fordl dH foiwaneti <1 auiq
@ﬁm| 1x3=3

24, “HARIT AR I TS H1 ATMAF SUHIT H71 a1 8 |7 380N Afgd 39
A i gfte HIT | 3
25. ffefiaa g =1 dfeu ot sues = fer T ywa1 =1 S &S 1+1+1=3

Hid — IR Fe

HRTeHT el o Toraml 3R TSl <l SFURN o 91§ J9gU ohl A9 @net off |
3THH o SETHT TSl 6 T T} T Haes ag o foR 3 37 Irdentat 8 s
TR S-S Fohd 8 T9H 3! §c ik TET 7T AT | 37 ToIU TS 1 Haels
of o6 I STU9 TIidi & TUeh T UM | 1859 % ITeis 3HUTH Ve o q&d ST
H M HH A TG B T SIHG S G STE I h e @ s of,
3TN I8 TG 3= foiet &t e} fiyeret off | 5@ 3789 1&g 3ngie & aR |
AT 1 TR QL 0 AR hl ST hid T | I a1H B fou
3N 3 W H = U | I ot o Top e et U 31 w0 @ gl et
@ B ol A H FHH e Sl | @ferd 9 1ot i W8 98 9 | el
3R TR HT gSATA o BRI I Ted § & B T T | I8 Yford 3 qhg ot
N 3Fh g aeg fuers 53 |

(25.1) 3HH o S AHGU o [T Tl shl SFAGERON ! T8 HIAT |

(25.2) ST WolgU shl AT H 1ok o €9 H 1859 % FAcis SHIURM Uwe
1 T HINT |

(25.3) HVGU  HSAN IMaleH H fad1 o o Y@ IRum i T HifT |
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22. Describe the ways of discrimination faced by women in India. 3
OR

Describe the changes in castes and caste system in modern India. 3

23. Describe any three characteristics of distribution of power between the
Centre and States in India. 1x3=3

24, “International trade is called the economic barometer for a country.”
Support the statement with examples. 3

25. Read the extract given below and answer the questions that follows : 1+1+1=3

Source - Swaraj in the Plantations

Workers too had their own understanding of Mahatma Gandhi and the
notion of Swaraj. For plantation workers in Assam, freedom meant the
right to move freely in and out of the confined space in which they were
enclosed, and it meant retaining a link with the village from which they
had come. Under the Inland Emigration Act of 1859, plantation workers
were not permitted to leave the tea gardens without permission, and in
fact they were rarely given such permission. When they heard of the
Non-Cooperation Movement, thousands of workers defied the authorities,
left the plantations and headed home. They believed that Gandhi Raj was
coming and everyone would be given land in their own villages. They,
however, never reached their destination. Stranded on the way by a
railway and steamer strike, they were caught by the police and brutally
beaten up.

(25.1) Explain the understanding of ‘Swaraj’ for plantation workers in
Assam.

(25.2) Explain the Inland Emigration Act of 1859 as a barrier to
freedom of plantation workers.

(25.3) Explain the main outcome of the participation of workers in
the Non-Cooperation Movement.

321412 Chlos i e | P.T..
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26. IHEH YA o QT AUPT ALY T T T 1 ThR o JTET ol
Tose T | 1x3=3
St
JTBNES] IATeel o Ad H YN & HUSl Had H e i T8 3 ? T
i | 3
27. “vg@ &= & fafay < & fomm & deg 3= 81 gohd 3 17 39 HF ol T
HIT | 3
28. AT H HHEHT o ~FET s¢ar shl &1 1 9uH hiforg | 3
ST
e S o foTw qEreEt il STagdehdT 1 9uH hIfVT | 3
QuE

29. ‘¥ HEEAl 9g UHIU &1 % TSl i SSd i H HEE Hd & | 3eRn

afgd s &t gfte Hiflvw | 5
3T

“HeT 1 EdHTA gAR GfHeh Siiad o1 Sigd w91 fewm @ 17 3wl |igd e

gfte i | 5
30. WRdH fopaml grn wmaT Y S fopedl i gt o fawerwor Shifse | Ix5=5
31. dlehdd U USHIfdes @l hl g8l sl Ui shifsu | 5
32. UM Fi gl AN & foh 1830 T TH JUT H WRI HicATSAT <iehl ITRT ? HRO

! Tse HifT | 5

T

FIHTSIATG & JShL TTATG b ThR T fowd g o1 AU a1 280 hifT | 5

33. “Cliohdifeh SHGEAT TSHIfdeh THMAT T UG gidl & |7 3eeen gfgd 39
HeH h gfte FHifv | 5
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26. Explain the three types of movement or flows identified by the
international economists in the nineteenth century. 1x3=3
OR

Why did textile exports from India not decline in the late eighteenth
century ? Explain. 3

27. “Different people of urban areas have different developmental goals.”
Explain the statement. 3

28. Describe the importance of an equitable distribution of resources in the
society. 3
OR

Describe the need of resources for human survival. 3

SECTION C

29. “Self Help Groups (SHGs) are the building blocks of organisation of the

rural poor.” Support the statement with examples. 5
OR
“The use of money spans a very large part of our everyday life.” Support
the statement with examples. 5
30. Analyse any five challenges faced by the Indian farmers. Ix5=5
31. Describe the importance of political parties in a democracy. 5

32. Why is it said that the 1830s were the years of great hardship in

Europe ? Explain. 5
OR

How did nationalism aligned with imperialism become the cause of the

First World War ? Explain. 5

33. “Democracy is based on political equality.” Support the statement with

examples. 5

32, ST W PT0.
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34. Tr=faRaa |l 1 afey 3R 37k =l fu T et & 3 N 5

i A - faesft R s STl w1 vehrentur

TR % G § TGl 1 Th IR § G TR H ST 81 8 | TR §
TEG3T o fehed og I 7 | & IR H Teh & g o1 Yod UhEHM g S
3 | 39 G <0 % IcUTGh Th-GEX H TN HIA g Bkt ot Ush-gEt § Wiawadi
H Thd 8 | 39 YR, faesft suman fafi 2o & Sl 6 Sied A wehier §
HEI Bl 8 |

|id B - Ayeitentot

aeqe, Gareti, A i Wenfieht % stfdafes fafte <o =t w4 Sred o
Teh 3 HIEIH 81 Gehdl @ | I8 HILIH 7 iy 23 o <9 A &1 STemme |
TR AT 9EaK 3T, SR USWR U9 foem i qam § T ow § g o H
AT hd & | Tobeg, Tora 3 qumenl & 31 gfaedi & wror fafis <on
<t il o srremTe # sfees afy TE gs @ |

|ia C - fava =R &req
Tafy fave =R e aft EN I gk SR HT giaer gar 7, W FGER |’
g <@ T 7 Tob foefYa gEni 4 g @ ¥ SR GUEehi hl sHehiR W@l
3 | gE0 3R, fore AR &ed & Fami 3 foemmeeiia ouN o SR /&gl &
M % U foaw fovm B | 381 U 3TE F 3G AR T IdHH
wEE B |
(34.1) G A - faresft SaTIR 3R START T TehTeRToT

fereeft SR TSR o A Tehishd A B 2
(34.2) @A B - AyiHTUT

JvefteRtor K8 &A1 T HETEIdl O O ity w1 fowar ot @ R 2
(34.3) ¥ C - fava =R wreA

“fora SR @A % Al AR it 4 ooy s89 w9 e
g 1”7 %o W 3 fomm wee i |
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34. Read the following sources and answer the questions that follows :

Source A - Foreign Trade and the Integration of Markets

With the opening of trade, goods travel from one market to another.
Choice of goods in the markets rises. Prices of similar goods in the two
markets tend to become equal. And, producers in the two countries now
closely compete against each other even though they are separated by
thousands of miles. Foreign trade thus results in connecting the markets

or integration of markets in different countries.

Source B - Globalisation

Besides the movements of goods, services, investments and technology,
there is one more way in which the countries can be connected. This is
through the movement of people between countries. People usually move
from one country to another in search of better income, better jobs or
better education. In the past few decades, however, there has not been
much increase in the movement of people between countries due to

various restrictions.

Source C - World Trade Organisation

Though WTO is supposed to allow free trade for all, in practice, it is seen
that the developed countries have unfairly retained trade barriers. On
the other hand, WTO rules have forced the developing countries to
remove trade barriers. An example of this is the current debate on trade

in agricultural products.

(34.1) Source A - Foreign Trade and the Integration of Markets

How does foreign trade integrate markets ?
(34.2) Source B - Globalisation

How is globalisation expanding human activity across regions
and continents ?

(34.3) Source C - World Trade Organisation

“The actions and methods of the WTO have evoked strong
debate.” Elucidate your views on the statement.

321412 hlos i abonr | P.T..
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35. (a Q M ‘A’ R ‘B U T WRa & TSHdeh {@I-AHeA (98 19 W) |
siferd fopu e 2 | 39 Tl B frafafaa S it e @ ve=fie
3 3Tk Tl W 3k e Gidll T8 t@redi w fafay . I1x2=2

(A) I8 ¥IH &l TS 9 79 S arel |
(B) 9% T &l WA UG Hidd hl A9 537 |

(b) oH feu T WRA & UoHilGE @raEe § efaiaa @ 9 gt ww
I ITYH BT W gRisy 3R Ik 19 faRaw Ixd=4
(i) TIPS — g
(i) R — gl a6 IAT g
(i) HISAT — TG I
(iv) HeH — WIel Td g1 H
(v) STAER (T |El) — STisE gars aoq

(vi) 2eUEle — HIFeaIT SaIATS ITeh

Fie:  REliET 397 9 giEanaa gherf & g gv7 gear 35 & T |
g | frgt &: yoa1 & 3w forfem

(35.1) 3§ TIM 1 AW TIRIT ST&f et 4 F9h T el |

(35.2) TSI o 39 TN 1 A0 fIRau ST fepami 3 ‘Temrg’ fomam |

(35.3) 3 TSY o1 AW fOIRaT &l gps =g feoa g |

(35.4) 39 TS &1 AW fIRaQ STaf TRus Tig 319 &1 @+ fEd ¢ |
(35.5) WIS BTE O & ¥ TEied Usd 1 AW fafau |

(35.6) 3 U w1 A1 foARgu w&T dotm reT v EdTq T fod ® |

(35.7) 38 USA &1 AW Tafge S|t T 9t garg 7o oo # |

(35.8) USE o 39 TAME 1 AW fafgu S@f @igeasr s ureh foord
7 | 1x6=6
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SECTION D

35. (a) Two places ‘A’ and ‘B’ are marked on the given political outline
map of India (on page 19). Identify these places with the help of
the following information and write their correct names on the
lines marked near them : 1x2=2

(A) The place where Gandhiji violated the salt law.

(B) The place where the Indian National Congress Session was

held.
(b)  Locate and label any four of the following with appropriate symbols
on the same given political outline map of India : Ix4=4

(1) Hirakud — Dam

(i1)) Kanpur — Coton Textile Industrial Centre
(iii) Kandla — Sea-port

(iv) Salem — Iron and Steel Plant

(v) Amritsar (Raja Sansi) — International Airport
(vi) Hyderabad — Software Technology Park

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 35. Attempt any six questions :

(35.1) Write the name of place where Gandhiji violated the salt law.

(35.2) Name the place of Gujarat where the peasants started
‘Satyagraha’.

(35.3) Name the State where Hirakud Dam is located.

(35.4) Name the State where Mayurbhanj Iron Ore Mines are located.
(35.5) Name the related State to Mumbai High Oil-field.

(35.6) Name the State where Salem Iron and Steel Plant is located.
(35.7) Name the State where Raja Sansi Airport is located.

(35.8) Name the place in Punjab where a Software Technology Park is
located. 1x6=6

| hupsifoyjus.com | e



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

R RRRAAAANNNMRRRRRRSDSISSS——————————E
BBWUS ' G

hitpsbyjus.com



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

R RRRAAAANNNMRRRRRRSDSISSS——————————E
BBWUS G

T H. 35 % foiw For question no. 35

SR Ny A T {ET-HH T TR )
TR, ey Outline Map of India (Political)

321412 kst i



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

	Button1: 
	Button2: 


